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Pewuts ypaBHeHus:
1. (e +5)dy—ye™dx =0,
dy 2 2
2. x—=3x"+y" +y,
o ¥y
3. (3 +cosx)dx + (3xy* +e")dy =0.
1-2x

4. Pemmts 3amauy Komm: ' +—~y =1, y()=1.
%

5. Pemts ypaBHenue: y'"'-thTx=7y".

Pewnts ypaBHEeHUs:
6. y"-13y"+12y'=x-1,
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Peuuts ypaBHEHHS:
1. xdx— ydy = yx*dy — xy’dx,

2 dl_x+y
“ iy By
d: 1
3.ycos(yj )ZC ( cosy:2y)dy 0.
xps & X
4. Pemurts 3agauy Komm: y'—y =xsinx, y(z/2)=1.
x

"

5. Pemuts ypaBHenue y''xInx=y".
Peruts ypaBHEHUS:
6. Y-y =x*+x,
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Pemuts ypaBHEHHUS:

2

dy_y LY

=k o )
dx = x

2
3. (" +ysec’ x)dx+(2xy +1gx)dy =0.
4
5

>

Pemmuts 3amauy Konm: 3"+ ycosx=sin2x, y(0)=0.

. Pemuts ypaBHenue x’y” +xy' =1,
Pemuth ypaBHEeHHS:
6. v —-2y" =2x+3,




